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(Translate and explain of the following paragraphs any 3)
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(Explain with reference to the context from the following quotations any 2)
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(Translate and explain any two of the following paragraphs)
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2 marks Convert the following active verbs into passive:
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1x3=3 Define Muzaf and Muzaf Ely with examples.

When two noun relate each other it is called possessive or genitive case this also gives meaning of
particle “of” like book of hamid in Arabic it will be ( fbxa¥! Sl ) in such arrangement of
words first word bears pash on last alphabet and second word bears tanveen I e two zer below last
alphabet that creates the meaning “of” in genitive case first noun is called ‘mudaaf ‘ it will always
be a proper noun and in no case will taken-on article “al” but the second noun “mudaaf elaih”
should be common noun or be particularized with ‘al’
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